Transistor DC Biasing

1.

For the fixed-bias configuration Fig.1,
determine:
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2. Given the information appearing in Fig. 2 , determine:

a. lc.
b. Re.
C. Re.
d. Vee.

Given the information appearing in Fig. 3, determine:

a. le.
b. Vee.
c. p.
d. Re.

For the emitter-stabilized bias circuit of Fig. 4,
determine:

a. IBo.

b. Ica.

c. VCEq.

d. Vvc.

e. VB.

f. VE.
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5. Given the information provided in Fig. 5, determine:

a. Rc.
b. RE.
c. Rs.
d. VCE.
e. VB.

Fig.6

6. Given the information provided in Fig. 6 , determine:

a. B.
b. Vcc.
C. RB.

7. Determine the saturation current (Ics) for the network of Fig. 4.

8. For the voltage-divider bias configuration of Fig. 7,
determine:

a. IBaq.

b. Ica.

C. VCEo.

d. Vc.

e. VE.

f. VB.

9. Given the information provided in Fig. 8, determine:

a. lc.

b. VE.

c. VB.

d. R1.
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10.

For the collector-feedback configuration of Fig. 9, determine:
a. IB.
b. Ic.
c. Vc.

11.

For the network of Fig. 10 , determine:
a. Is.

b. Ic.

c. VE.

d. VCE.
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12. For the R—C-coupled amplifier of Fig. 11 determine
a. the voltages Vs, Vc, and VE for each transistor.
b. the currents I8, Ic, and IE for each transistor

it
10 uF

) -
10 uF QL—I\ =160

13. For the Darlington amplifier of Fig. 12 determine
a. the level of pD.
b. the base current of each transistor.
c. the collector current of each transistor.
d. the voltages Vcs, Ve, VE, and VE2

B,=50,p,=175
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14. For the cascode amplifier of Fig. 13 determine
a. the base and collector currents of each transistor.
b. the voltages VB1, VB, VE1, VC1, VE2, and VCa.
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